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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
1y 517 2) 695 3) 654 4) 140 X
X 75 51 x 62 77 '
2.
3.
4.
5) 825 6) 388 7) 287 8) 807 i
X 16 43 x 79 85 '
6.
7.
8.
9 503 10) 314 11) 215 12) 515 .
X 16 27 x 80 26 '
10.
11.
12.
13) 969 14 gsoo 923 16 101
13.
x 69 89 x 64 72
14,
15.
16.
17) 240 18) 726 19 206 20 459
17.
x 18 67 X 64 80

18.

19.

20.
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
1) 2) 3) 4)
517 695 654 140 . 38775
X 75 X 51 x 62 X 77
2.585 695 1,308 980 , 35445
+ 36,190 + 34,750 +39,240 + 9,800
38.775 35,445 40,548 10,780 3 _ 40,548
+ 10,780
5) 6) 7) 8)
825 388 287 807 . 13200
X 16 X 43 x 79 X 85
4,950 1,164 2.583 4,035 e 16,684
+ 8,250 + 15,520 +20,090 + 64,560
13.200 16,684 22 673 68.595 7. __ 22,673
8 68,595
9) 10) 11) 12)
503 314 215 515 X 8,048
X 16 X 27 x 80 X 26
3,018 2.198 17,200 3,090 0 8,478
+5,030 + 6,280 +10,300
8.048 8.478 13,390 1. 17,200
2 13,390
13 14 15 16
) 969 ) 800 ) 923 ) 101 s 66,861
X 69 X 89 x 64 X 72
8.721 7.200 3.692 202 71,200
+ 58,140 + 64,000 +55,380 +7,070
66.861 71.200 59 072 7.272 15. 09,072
16, 1,272
17 18 19 20
) 240 ) 726 ) 206 ) 459 o 4320
X 18 X 67 x 64 x 80
1,920 5,082 824 36,720 18 48,642
+ 2,400 + 43,560 +12,360
4.320 48.642 13,184 0. 13,184
0 36,720
,y 1-10 195(90(85|80| 7570|6560 |55 |50
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